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B 8670 1082 7587 99824 10620 68384 6.8 0.8 5.9 78 53.4
it i b1 584 70 514 3388 526 3020 10.6 13 9.3 61.5 54.8
H # 104 16 88 932 245 572 7.6 1.2 6.4 67.9 41.7
P F 95 15 80 918 156 611 7.1 11 6 69 45.9
= b 146 27 119 1589 190 1060 6.2 11 51 67.7 45.1
FK H 77 16 61 816 93 463 7.1 15 5.6 75.1 42.6
i i 69 13 56 922 86 481 5.9 11 4.8 78.9 41.1

& 5 140 25 115 1457 173 915 6.9 1.2 5.7 71.8 45.1

x Ik 185 21 164 1697 201 1403 6.2 0.7 55 57.1 47.2
i N 110 18 92 1421 183 988 55 0.9 4.6 70.8 49.2
Jii5 5 133 13 120 1581 166 968 6.6 0.6 6 78.7 48.2
il +* 348 52 296 4055 345 3407 4.8 0.7 41 56.4 47.4
+ 3 283 35 248 3681 277 3180 4.6 0.6 4 59.2 51.2
H = 647 54 593 12684 620 10603 49 0.4 45 96.4 80.6
A &= JII 343 47 296 6407 332 4868 3.8 05 3.3 70.8 53.8
Bell & 131 20 111 1659 91 1189 55 0.8 4.7 69.9 50.1
=1 1 110 19 91 770 84 458 10.1 1.7 8.3 70.4 41.9
Fa JII 101 13 88 860 102 491 8.6 11 75 735 42
& H 75 10 65 595 116 284 9.3 1.2 8.1 73.8 35.2
i 20 60 8 52 670 63 419 7 0.9 6 77.6 48.5
s iy 132 16 116 1557 125 1008 6.1 0.7 5.4 72.3 46.8
7 B 104 13 91 1558 185 935 5 0.6 4.4 74.9 44.9
i [if] 187 32 155 2704 289 1772 5 0.8 41 71.8 47.1
= gl 329 40 289 5040 482 3646 4.4 05 3.9 68 49.2
= H 102 13 89 1506 156 860 55 0.7 4.8 81.2 46.4
i3 = 60 7 53 995 52 555 4.3 0.5 3.8 70.5 39.3
b A 175 12 163 2532 164 1320 6.6 05 6.2 96.1 50.1
PN B 540 39 501 8238 354 5458 6.1 04 5.7 92.9 61.6
= J# 349 32 317 4951 314 2963 6.2 0.6 5.7 88.6 53
= J=8 75 4 71 1166 70 706 5.4 0.3 51 83.2 50.4
Fn Bis i} 92 9 82 1063 132 554 9.2 0.9 8.2 106.1 55.3
5 e 45 5 40 532 63 260 7.6 0.8 6.8 90.4 44.2
= R 54 8 46 746 67 283 75 11 6.4 104 39.4
[if] i} 174 17 157 1626 198 1006 8.9 0.9 8.1 83.6 51.7
i 5 254 31 223 2618 297 1555 8.9 11 7.8 91.5 54.4
1L [m] 147 28 119 1282 178 676 10.1 1.9 8.2 88.3 46.6
il 5 117 15 102 796 164 440 14.9 19 13 101.3 56
& JII 94 10 84 821 149 471 9.4 1 8.4 82.4 47.3
Z % 144 15 129 1244 262 694 10.1 1 9 86.9 48.5
= gl 137 13 124 576 100 363 17.9 1.7 16.2 75.3 475
& [if] 466 60 406 4485 743 3010 9.2 1.2 8 88.4 59.3
1 = 110 14 96 699 202 422 12.9 1.6 11.3 82.3 49.7
=3 53 162 28 134 1419 348 739 114 2 9.4 99.5 51.8
AE ¥N 218 38 180 1453 398 833 12 2.1 9.9 79.9 45.8
PN i 159 25 134 971 300 545 13.3 2.1 11.2 81.2 455
= iz 143 15 128 897 226 525 12.6 1.3 11.3 79 46.2
e I 5 266 38 228 1426 426 816 15.6 2.2 134 83.6 47.8
i i} 94 13 81 821 127 589 6.7 0.9 5.8 58.9 42.3
HRUAR X R 423 15 408 9668 460 8308 4.7 0.2 4.6 108.1 92.9
AL 208 26 182 1271 171 1215 10.9 14 9.5 66.4 63.5
BT 60 10 50 847 72 571 5.7 1 4.8 81 54.6
W= FEifi 40 4 36 845 57 643 3.3 0.3 2.9 69.1 52.6
T3 46 6 40 669 51 540 4.8 0.6 4.2 69.6 56.1
FELE T 135 21 114 2857 133 2056 3.7 0.6 3.1 775 55.7
~ | 41 5 36 891 45 721 2.9 0.4 25 62.5 50.6
| kRt 35 3 32 385 25 346 49 0.4 45 53.7 48.2
8| g 44 7 37 641 29 491 5.4 09 46 79 605
\2/ Fl 28 5 23 562 40 342 3.9 0.7 3.2 78.5 47.8
0 TR TH 39 8 31 618 58 386 49 1 3.9 77.2 48.2
* Py =11 132 10 122 1958 143 1423 5.8 0.4 5.4 86.5 62.9
A [ R T 109 6 103 1660 101 846 7.4 04 7 112.6 57.4
| KB T 187 1 186 3350 120 2232 7 0 7 125.7 83.7
Bt 44 4 40 708 32 472 5.2 0.5 4.8 84.1 56.1
T 106 11 95 1579 86 938 6.9 0.7 6.2 102.3 60.7
[if] 1Ly 58 6 52 678 82 436 8.2 0.8 7.3 955 61.4
ST 89 10 79 1188 124 697 7.6 0.9 6.7 101.2 59.4
BRI 89 14 75 965 149 661 9.1 14 7.7 98.8 67.7
) i 115 13 102 1417 190 988 7.9 0.9 7 96.8 67.5
JBJ 1T 41 4 37 252 46 194 11.8 1.2 10.7 72.6 55.9
PR T 31 1 30 231 36 140 111 04 10.7 82.8 50.2
Hal 22 4 18 239 75 141 7.3 13 6 79.8 47.1
&) i 29 5 24 276 48 200 9.7 1.7 8 925 67
Bk 26 7 19 282 21 173 8 2.2 5.9 87.1 535
ARl 22 3 19 246 28 175 6.5 0.9 5.6 72.6 51.7
Wbl 28 6 22 267 32 164 8.2 18 6.4 78 47.9
TR E T 32 5 27 439 58 293 6.3 1 53 85.8 57.3
AiAG 21 2 19 358 31 191 6.2 0.6 5.6 105.2 56.1
Ik 26 7 19 192 21 179 7.6 2 55 56 52.2
Fntg 23 4 19 341 17 310 3.8 0.7 3.1 56 50.9
A 17 2 15 235 12 212 4.2 05 3.7 58.2 525
RS T 12 12 315 28 241 2.9 2.9 75.3 57.6
I 48 8 40 327 34 195 114 19 9.5 775 46.2
AR 46 7 39 390 49 227 9.9 15 8.4 84.3 49.1
FBil 27 2 25 294 24 204 7.1 05 6.6 77.1 535
7 BT 34 3 31 396 47 252 8.2 0.7 75 95.9 61
| 22 4 18 246 30 182 5.8 11 4.8 65.3 48.3
% AN 16 4 12 209 16 155 3.8 0.9 2.8 49.6 36.8
o [if Iy 77 15 2 13 223 20 160 4 0.5 3.5 59.9 43
% KT 16 2 14 273 16 137 4.7 0.6 41 80.9 40.6
i) T 19 3 16 268 10 187 53 0.8 45 75 52.3
3PN 25 2 23 403 16 287 49 0.4 45 79.1 56.3
W T 35 2 33 412 37 285 6.5 04 6.2 76.8 53.1
7= 17 23 2 21 467 19 269 4.8 0.4 4.4 96.8 55.7
JEMR T 25 25 487 30 249 55 55 107.3 54.9
HETH 21 1 20 367 15 206 5.7 0.3 55 100.1 56.2
Faaki 43 4 38 451 46 237 11.6 11 10.3 121.8 64
B 38 4 34 344 37 232 8 0.8 7.2 72.3 48.8
& 45 5 40 337 57 240 9.8 1.1 8.7 73 52
TR 28 5 23 273 52 142 10 18 8.2 97.2 50.5
NN 37 4 33 406 78 231 8.8 1 7.9 96.8 55.1
L/NTINF] 43 5 38 454 111 254 8.3 1 7.3 87.8 49.1
B 67 8 59 289 48 188 195 2.3 17.2 84.2 54.7
VS NIl 35 4 31 314 73 177 11.6 1.3 10.3 103.8 58.5
FeRr 50 9 41 577 102 278 11.3 2 9.2 130 62.6
REATH 97 16 81 621 142 380 13.2 2.2 11 84.6 51.7
Koy 54 12 42 375 118 220 114 25 8.9 79.1 46.4
= 39 4 35 378 86 226 9.7 1 8.7 94.4 56.4
JEE S T 100 13 87 526 154 366 16.5 2.1 14.4 86.8 60.4




